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03 A F=XH R =ZH| 3,000 3,000 0
O04 - 0ts - IIEZ0F FHF2A 3,000
301 LA F 4,000 4,000 0
09 #HALAHIXI &3 4,000 4,000 0
O A 2 MOl 5 nssEA 2,000
OZNMALE &35 MYus 2,000
HaFgela datnsg L JgH WERI 2EAMY 10,000 10,000 0
< 5,000
Al 5,000
307 glz2tol & 10,000 10,000 0
< 5,000
Al 5,000
02 IZtE A AHEE 10,000 10,000 0
OEHYUA HMEu= 5,000
< 2,500
Al 2,500
OJIgH UWERIT ZstAt 5,000
< 2,500
Al 2,500
HF=A HEEHE2As 29X 23,000 22,100 900
307 glz2tol & 23,000 22,100 900
03 BIAHMNHE2IHIEL 23,000 22,100 900
OFFA HedHHMEAY 2SN 23,000
MEHEH XIE2E 637,458 476,528 160,930
= 456,839
< 90,310
Al 90,309
307 glz2+ol & 637,458 476,528 160,930
= 456,839
< 90,310
Al 90,309
02 QIAHFAAHEX 637,458 476,528 160,930
ozds=a=HEHd Al XS 637,458
= 456,839
< 90,310
Al 90,309
M HEE HEAE HHA 24,840 22,080 2,760
< 4,968
Al 19,872
307 2201 A 24,840 22,080 2,760
< 4,968
Al 19,872
02 It AHE L 24,840 22,080 2,760
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Al 2,332
201 et A | 3,500 3,500 0
& 1,168
Al 2,332
01 AFR2t2l Yl 3,500 3,500 0
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T 1,168
Al 2,332
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= 4,860
Al 11,340
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& 4,860
Al 11,340
02 DI2HE MAIEE X 16,200 24,000 A7,800
OF I AL HA &SI 16,200
& 4,860
Al 11,340
HIAUA ZHugdus 29 3,000 3,000 0
201 Bt A | 3,000 3,000 0
01 AP 22l Yl 3,000 3,000 0
OXNAUAN ZHHguUs 29 3,000
ME=EXA SXIHE X2 116,400 64,000 52,400
307 212t0| & 116,400 64,000 52,400
11 A SAAEE X 116,400 64,000 52,400
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e X& 116,400
HFA HEY DSMHEL 2Y 62,000 62,000 0
307 212t01 & 62,000 62,000 0
11 AMISXAEE X 62,000 62,000 0
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01 AL 2 EF SHI 120,000 0 120,000
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< 74,069
Al 93,911
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Al 93,911
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= 74,069
Al 93,911
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Jl| 36,431
< 7,808
Al 7,808
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Al 7,808
01 22272l 11,159 9,695 1,464
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J| 7,810
< 1,674
Al 1,675
11T AR SXAIEE = 40,888 39,800 1,088
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| 159,823
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Al 46,378
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| 159,823
< 29,186
Al 46,378
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| 126,823
< 29,186
Al 46,378
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Al 990
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AOHOHIIGH At 2= XI& 99,480 70,000 29,480
J| 69,636
< 14,922
Al 14,922
307 21201 A 99,480 70,000 29,480
J| 69,636
< 14,922
Al 14,922
11T ALS S XAEE = 99,480 70,000 29,480
O&OHOHIIGH A = XI& 99,480
J| 69,636
< 14,922
Al 14,922
SOHOHEX s 5,000 5,000 0
301 LEXZ 5,000 5,000 0
12JEEd = 5,000 5,000 0
OSOHOHEX Hgdws 5,000
SOHOHIGHA RIJHAIE & &AL 29 1,089,968 937,811 152,157
J| 608,660
< 194,624
Al 286,684
307 21201 A 1,089,968 937,811 152,157
J| 608,660
< 194,624
Al 286,684
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Al 13,431
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< 2,457
Al 2,458
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CEB - HS(3H) - HBAY - B Ol At o %@i HRE2
06 282 106,000 111,300 A5,300
Og9K0t gtM=2H3 It K& 100,000
OESHAI E 6,000
DIZ2ZIHEIOI Y E= WA E83 K& 165,600 180,000 A 14,400
307 2Iz2t0| A 165,600 180,000 AN 14,400
06 22 165,600 180,000 A 14,400
O0I2tEl0ld ExnA E82 A& 165,600
gt S StSAIAE D FH AR 6,800 6,800 0
301 et A= 6,800 6,800 0
01 Al E & A 462 6,800 6,800 0
ONE SFSAIE WMPH XN 6,800
= SAIAF S ASTAIE 20,000 20,000 0
307 2izto| A 20,000 20,000 0
02 QI2tAAMAIE E =X 20,000 20,000 0
OBEE SAIA HEAF ALY 20,000
el old SHIMNSHAY 81,000 81,000 0]
307 2I2t0| & 81,000 81,000 0
11 A EXAIEE X 81,000 81,000 0
OE0IE SHIMHEAE 81,000
AN2AXEYE BE=X& 300,000 314,709 N 14,709
= 150,000
& 75,000
Al 75,000
301 et A= 60,000 62,942 N2,942
= 30,000
= 15,000
Al 15,000
01 AR E & A 462 60,000 62,942 N2,942
OANZLXEYE ESXE 60,000
= 30,000
=} 15,000
Al 15,000
307 QI2t0| & 240,000 251,767 A 11,767
= 120,000
& 60,000
Al 60,000
10 A SXNANEEHESIGHEX 240,000 251,767 A 11,767
OANZXSE B 240,000
= 120,000
= 60,000
Al 60,000
=ed edel SEMHIA XA 12,000 15,000 A 3,000
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SSWEIA HSMSXZ (HH LA X&) 1,417,104 1,480,380 AB3,276
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< 283,421
Al 283,421
307 21201 A 1,417,104 1,480,380 AB3,276
= 850,262
< 283,421
Al 283,421
11T M3 SXAISEEX 1,417,104 1,480,380 AB3,276
OEEwX& HHMRA XI& 1,417,104
= 850,262
< 283,421
Al 283,421

HENASE FelBdE R2RE=s N2 37,308 95,040 ABT,732
301 LEHZ 37,308 95,040 ABT,732
01 MEI2EZE 5= 37,308 95,040 AB7,732

OHEMNMAES SFeltdE 2223 XA 37,308
SSAFE el ALY 1,623,993 0 1,623,993
= 1,495,783
< 128,210
401 Al I 28I 1,623,993 0 1,623,993
= 1,495,783
< 128,210
01 A& HI 1,623,993 0 1,623,993
O0gold Oelel2gE AtY 1,623,993
= 1,495,783
< 128,210
ors=Xl XI& 42,835,308 41,194,986 1,640,322
= 33,204,356
J| 375,396
< 4,422,693
Al 4,832,863

OElolg J18&dAt 12,000 12,000 0
201 Let2d] 12,000 12,000 0
03 &Ar2 Gl 12,000 12,000 0

O0eolg I8 & A 12,000
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J| 18,417
= 3,947
Al 3,947
OYA=eiI|2t 2DAX & A 700
J| 490
< 105
Al 105
307 glz2tol & 23,330 21,486 1,844
J| 16,331
< 6,999
11T M SXAISE EX 23,330 21,486 1,844
oYyAH E 23,330
J| 16,331
< 6,999
dx=ot=a XA 7,000 6,000 1,000
< 2,100
Al 4,900
301 Lpte M3 7,000 6,000 1,000
= 2,100
Al 4,900
01 MEIBZE 263 7,000 6,000 1,000
ogd=dt=z N 7,000
< 2,100
Al 4,900
AAXNE=S XS 16,000 16,000 0
301 LeEBAF 16,000 16,000 0
01 MI28E +06l= 16,000 16,000 0
oYL= XA 16,000
2o AA0lEs dEEXS 16,560 19,200 A2,640
< 4,968
Al 11,592
301 LEXZ 16,560 19,200 A 2,640
< 4,968
Al 11,592
01 MEIE2EZE 06z 16,560 19,200 N 2,640
oLt YAots dEEXS 16,560
< 4,968
Al 11,592
A0t NEEFEAS 105,000 55,000 50,000
< 26,250
Al 78,750
301 LptR M3 105,000 55,000 50,000
< 26,250




SH: OEISD
HE: 04 -0
Sl oS =X

== X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 78,750
01 Al B & A 462 105,000 55,000 50,000
EA0ts NEHEEHZ 105,000
= 26,250
Al 78,750
NE2SH2 elolse 2 =8AHY 28,000 28,000 0
307 QI2t0| & 28,000 28,000 0
02 QI2tAAMAIE E =X 28,000 28,000 0
OX=EZ2SHS Mol =2 =AY 28,000
dtstzs s3wa Al 12,000 0 12,000
307 2I2t0| & 12,000 0 12,000
02 QIZHBAAIRE E X 12,000 0 12,000
oYsts sE80A AIY 12,000
Ols &< X2 H Z 658,268 651,971 6,297
= 460,788
& 98,740
Al 98,740
301 et A =2 658,268 651,971 6,297
= 460,788
&< 98,740
Al 98,740
01 Al E & A 46 2 658,268 651,971 6,297
OO0t &< X< H X 658,268
= 460,788
o= 98,740
Al 98,740
BsE=20ls ANELE 450,000 370,800 79,200
= 360,000
=} 90,000
301 et M= 450,000 370,800 79,200
= 360,000
& 90,000
01 M EXEE 4562 450,000 370,800 79,200
OESE=0ls NEY 450,000
= 360,000
& 90,000
olss+4 XI& 39,316,000 38,682,000 634,000
= 31,453,000
== 3,931,500
Al 3,931,500
301 et A= 39,316,000 38,682,000 634,000
= 31,453,000
= 3,931,500
Al 3,931,500
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CEB - HS(3H) - HBAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al E & A 452 39,316,000 38,682,000 634,000
ools4+4% XN 39,316,000
= 31,453,000
o= 3,931,500
Al 3,931,500
Ots4+% 294dl XI& 12,300 12,766 N 466
= 8,610
= 1,230
Al 2,460
201 et 12,300 12,766 N\ 466
= 8,610
= 1,230
Al 2,460
01 AP 2t 2] H| 12,300 12,766 N 466
Oltss+% 89Hl XN& 12,300
= 8,610
& 1,230
Al 2,460
SAEE StHHH EHATAHS 2H 6,000 6,000 0
201 et d| 6,000 6,000 0
01 AP 22| H| 6,000 6,000 0
OEEAEIE S2HAHHEH AN 29 6,000
CEAEE QXRIHAEH 0l& 19,800 19,800 0
201 LBt Y| 19,800 19,800 0
01 AP 22| d| 19,800 19,800 0
OEEAEIE GXRHME AXE 19,800
AH=E OlsSEAMHIA I 318,748 231,813 86,935
= 254,998
& 31,875
Al 31,875
201 et | 48,048 34,213 13,835
= 38,438
= 4,805
Al 4,805
01 AP 2t 2] H| 18,048 11,213 6,835
OEEAEEHNEH 29 18,048
= 14,438
& 1,805
Al 1,805
02 2224 H| 30,000 23,000 7,000
OCEEAEENEH 29 30,000
= 24,000
= 3,000
Al 3,000
301 dEtE M= 251,200 168,400 82,800
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 200,960
= 25,120
Al 25,120
01 MEI2BZE 05z 35,700 18,400 17,300
OEEHAERENH 2Y 35,700
= 28,560
< 3,570
Al 3,570
12|24 = 215,500 136,000 79,500
OEYAEENH 2Y 215,500
= 172,400
< 21,550
Al 21,550
307 glz2tol & 19,500 28,600 A 9,100
= 15,600
< 1,950
Al 1,950
01 22724l 19,500 28,600 29,100
OEEHAERENH 2g 19,500
= 15,600
< 1,950
Al 1,950
Ot=2sSEMHA ALY 6,000 6,000 0
< 6,000
301 LA F 6,000 6,000 0
< 6,000
12JIE243 6,000 6,000 0
ots=2ssegAMblA XI& 6,000
< 6,000
Ot=2sd3® & 10,000 0 10,000
201 €24 10,000 0 10,000
01 At 22l 10,000 0 10,000
ootsEsdEY & 29 10,000
HFAl EHAEE G8MEH =4 300,000 0 300,000
405 RHoHF S HI 300,000 0 300,000
01 AL EZFH S 300,000 0 300,000
OE=A EHAEE HAWH =4 300,000
Ots=XIAE K& 17,381,508 16,517,379 864,129
= 4,338,721
J| 14,450
< 3,566,990
Al 9,461,347
OtsEXAE 22X& 4,004,075 3,905,898 98,177
< 600,611
Al 3,403,464




2N

Hu: oM - OlS=X =d
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SA BB (SH) - NRAY - B Ol At o %E& HRE2
307 2Iz2to| & 4,004,075 3,905,898 98,177
== 600,611
Al 3,403,464
10 MM SXAANEEHESIGHEX 4,004,075 3,905,898 98,177
O0l=s=XAIE 22| 4,004,075
= 600,611
Al 3,403,464
OIS =2 X AIE SAA S8 229,320 249,840 N 20,520
= 65,340
Al 163,980
307 gizto| A 229,320 249,840 N 20,520
& 65,340
Al 163,980
10 MM SAANEEHESIHEX 229,320 249,840 N 20,520
OOtsS=SXAIE SAMI EEE 229,320
& 65,340
Al 163,980
ots=EIA4E Bs0ts XH 39,375 50,000 AN 10,625
301 et M= 39,375 50,000 A 10,625
01 A& A 252 39,375 50,000 N 10,625
O0ISEXNALE BS0tS 2HAH|I (3IHAIE) 27,375
Ot=E=XAE Ols £t (5,12) 12,000
MAZH (OIS EXAIE) 470,000 470,000 0
= 423,000
= 32,900
Al 14,100
307 QI2t0| ™ 470,000 470,000 0
= 423,000
= 32,900
Al 14,100
11T A EXAIEEX 470,000 470,000 0]
OOsS=SXAIE MAHZ N 470,000
= 423,000
= 32,900
Al 14,100
AM&0ts XI& 150,267 76,540 73,727
= 45,080
Al 105,187
307 2Iz2to| & 150,267 76,540 73,727
= 45,080
Al 105,187
11T AISIEXAIEEX 150,267 76,540 73,727
OANH&EOES X 150,267
= 45,080
Al 105,187
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= MW
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307 glz2tol & 254,292 568,930 A 314,638
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401 AIEHIZ 2 THYI 600,000 0 600,000
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150,000
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= MW

01 A& dl 600,000 0 600,000
O&=Al OlsE3d=2012 &1 600,000
300,000

160,000
150,000

= N H

H=Al OlSESH2I|2 29 278,068 0 278,068
139,034
69,517
69,517

= HnH

307 glztol & 278,068 0 278,068

139,034
69,517
69,517

=z N H

10 A SXAEHE2 220,192 0 220,192
O&FAl XNSOtsESHEI 2 2EHI 220,192
110,096
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(==
H
2]

H
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Off &t 24

=

M
2Hm
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Ol
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< 55,048
Al 55,048
A SR AIEE X 57,876 0 57,876

O&E=Al XNQOISESHII|2 AL HI 57,876
28,938

14,469
14,469

= N W

2SHEINF(OES) AL BE ¢ 23,600 21,600 2,000
7,080
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= M

307 glztol & 23,600 21,600 2,000

7,080
Al 16,520

H

= = 2= 23,600 21,600 2,000
OSSMEINF(OEE) BEMI B8 =¢ 23,600
7,080
16,520

= M

ASotsdEH 28 X& 4,963,560 4,499,160 464,400
2,481,780

988,962
1,492,818

= W

307 21201 & 4,963,560 4,499, 160 464,400
2,481,780

988,962
1,492,818

= W

1A SXAIE 2 =
OXYotsdE 294l

,963,560 4,499, 160 464,400

,864,440
,432,220
972,888
1,459,332
OXdotsHE 2HHI(SI18FI) X 75,000
37,500
11,250
26,250

N~

= MW

= N H

OXNAOtSHH 2SHI(Sota AyLd0l 0l
2) X4 24,120
12,060
4,824
7,236

= N W

Jm
0x
g
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(=]
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Mg =0t X2 271,584 0 271,584
121,584
48,632
101,368

= N H

307 21201 ™ 271,584 0 271,584
121,584
48,632
101,368

= N H

AR S XA E X 271,584 0 271,584
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Hu: oM - OlS=X =d
&2 OFSEXAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHdE XIotsdd I X 271,584
= 121,584
< 48,632
Al 101,368
ANEotsdH 29 =2t N2 40,200 0 40,200
= 12,060
Al 28,140
307 21201 A 40,200 0 40,200
< 12,060
Al 28,140
11T MISXASEX 40,200 0 40,200
OXdotsdE 2g4l =0t X & 40,200
< 12,060
Al 28,140
== NG0tsdy X 170,792 170,792 0
= 85,396
< 34,158
Al 51,238
307 gl2tol & 170,792 170,792 0
= 85,396
< 34,158
Al 51,238
11T ALS S XAEE = 170,792 170,792 0
O+ XNdotsdH X 170,792
= 85,396
< 34,158
Al 51,238
ANAOtsEHEH SAXNL S8 253,080 249,480 3,600
< 50,616
Al 202,464
307 g2+l & 253,080 249,480 3,600
< 50,616
Al 202,464
10 AL SXAIEEE 22X 253,080 249,480 3,600
OXNA0tsHE SAA S 253,080
< 50,616
Al 202,464
XNAOotsSHEH SALA =X+ 273,600 273,600 0
307 21201 A 273,600 273,600 0
10 ALSISXAIEEE2IHEX 273,600 273,600 0
OXNY0tsdEH SAA SX==& 273,600
NEOtsSHE SAAL BEE 60,800 61,600 A 800
< 12,160
Al 48,640
307 gl2tol & 60,800 61,600 A 800
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OFSSXAIE XI& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 12,160
Al 48,640
10 ALSISXAIEEE2EHEX 60,800 61,600 A 800
OXSOtSHEH AL BEY 60,800
< 12,160
Al 48,640
ANEotsde S48 XA ,719,000 2,856,600 A 137,600
= 550,000
Al , 169,000
307 21201 A ,719,000 2,856,600 A 137,600
< 550,000
Al , 169,000
11T MISXASEEX , 719,000 2,856,600 A 137,600
OXYotsdE s SAH X ,200,000
< 550,000
Al ,650,000
OXNYolsdH EQ2Y 24H X 144,000
OXY0otsdE 2tAHI 375,000
ANE0tsdH S3MHAXA 100,000 423,616 AN 323,616
= 50,000
< 20,000
Al 30,000
402 2I2H X201 M 100,000 423,616 N 323,616
= 50,000
< 20,000
Al 30,000
02 QI EALEZ (OIS ) 100,000 423,616 A 323,616
OXYotsdH 3L X 100,000
= 50,000
< 20,000
Al 30,000
NSGotsdEyH T2 FIOHR& 490,872 454,428 36,444
=) 147,262
Al 343,610
307 glz2+ol & 490,872 454,428 36,444
=) 147,262
Al 343,610
11T MISRASEX 490,872 454,428 36,444
OXNYGOotsHdE T2 FIHKA 490,872
< 147,262
Al 343,610
NEotsdlEe SAUSE 9,000 9,000 0
307 21201 A 9,000 9,000 0
11T MISXASEEX 9,000 9,000 0
OXNZotsdH SHUS 9,000
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ANEOotsdE & - el XI& 13,400 13,400 0
307 gl2tol & 13,400 13,400 0
10 AL SXNAIEEE2EH EX 13,400 13,400 0
OXZotsHH & - el X 13,400
NEotsdEH W4 XA 13,400 13,400 0
307 glz2tol & 13,400 13,400 0
10 AL SXAIEEE 2 H EX 13,400 13,400 0
OXYotsd e wiHw>Hl X 13,400
ANE0tsdH 2dE2ME 3,000 3,000 0
307 21201 A 3,000 3,000 0
02 QB AAGFEX 3,000 3,000 0
OXY0lsdH 22 EZHE ALY 3,000
NEotsdE OtA3 KA 17,900 17,900 0
301 LA F 17,900 17,900 0
01 AR 2Z A 53 17,900 17,900 0
OXZotsHH 0/20ts OtA3 K&
1,000 %1,790H 10 17,900
SSHEINE SAL o222 Y 32,400 0 32,400
< 9,720
Al 22,680
307 21201 A 32,400 0 32,400
< 9,720
Al 22,680
11T M3 SXAISEEX 32,400 0 32,400
OZ2zdEINE SAL o222 32,400
< 9,720
Al 22,680
s 2 X 9,317,209 8,781,439 535,770
= 4,897,546
J| 461,406
< 1,248,800
Al 2,709,457
SHRRIIE SXNAIE 8A% NEEEHZ 30,000 30,000 0
< 4,500
Al 25,500
301 LeHBAF 30,000 30,000 0
< 4,500
Al 25,500
01 MI2EZE 6= 30,000 30,000 0
OStRZ2IIE SXNAE EA2X NHEHES 30,000
< 4,500
Al 25,500

_25_




AN &8Iz
Hu: oM - OlS=X =d
Sl JtE FE X8 (B9 ®R)
(o
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SIERIIE YAESAE AKX I=H XA 4,000 4,000 0
== 1,200
Al 2,800
307 2Iz2t0| A 4,000 4,000 0
< 1,200
Al 2,800
01 s =l 4,000 4,000 0
OStER2IIE LANESAIE AKX T2 XA 4,000
& 1,200
Al 2,800
SHE2IJIE EX A48 29| 1,072,385 994,093 78,292
& 160,858
Al 911,527
307 giztol & 1,072,385 994,093 78,292
& 160,858
Al 911,527
10 A SAANEEHESIGHEX 1,072,385 994,093 78,292
OetE2ER2IIE EXAE 29X 1,072,385
= 160,858
Al 911,527
SHER2IJI=E X AE SALLR ¢ 22,068 23,040 NQT72
o= 6,620
Al 15,448
307 Q12t0| & 22,068 23,040 NQ72
=} 6,620
Al 15,448
10 AISI EXAIEEHE2IHIEX 22,068 23,040 N972
OStER2IIE EXANE SAL = 22,068
& 6,620
Al 15,448
SHE2II=E X AIE MO 22| 3,400 3,400 0
& 1,020
Al 2,380
307 2Iz2to| & 3,400 3,400 0
== 1,020
Al 2,380
11 Al E XA & 3,400 3,400 0
OStER2IIE BSAAE MU 2ZEH 3,400
=} 1,020
Al 2,380
SEIE SXAL IEBIT XY 11,400 9,750 1,650
= 3,420
Al 7,980
307 QI2+0 & 11,400 9,750 1,650
& 3,420
Al 7,980
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11T A EXAIEEX 11,400 9,750 1,650
OStER2IIE EXAL JIssT X 11,400
= 3,420
Al 7,980

ANlE AR &Y - X2 XS 28,000 27,024 976
J| 14,000
& 5,600
Al 8,400

307 QI2t01 & 28,000 27,024 976
J| 14,000
= 5,600
Al 8,400

11T A EXAIEEX 28,000 27,024 976
OStRER2IIE SAAE AL & - XE XA 28,000
J| 14,000
& 5,600
Al 8,400

SIERIIEXNE 2=H & XA 3,000 3,000 0
J| 2,400
= 300
Al 300

307 2Iz2t0| & 3,000 3,000 0
Jl 2,400
o=t 300
Al 300

11 A EXAIEEX 3,000 3,000 0
OStERIIEEXNAE AKX 2=H KNS 3,000
J| 2,400
= 300
Al 300

ANEISEY XN (BREZIE) 40,300 90,490 A 50,190
J| 20,150
& 10,075
Al 10,075

402 SI2vXHE0| & 40,300 90,490 A 50,190
J| 20,150
& 10,075
Al 10,075

02 X2 AL E X (0| & THE) 40,300 90,490 A 50,190
OStRER2IIEANE JsEZAEY 40,300
J| 20,150
== 10,075
Al 10,075

AE OlOlSEAHIA X (BELIESAIL) 75,000 60,000 15,000
J| 52,500
o= 9,000
Al 13,500
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Al
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H
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= W

6,879,023
4,815,316

825,483

,238,224

6,657,603

221,420
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Al 1,238,224
N LU ReIIE XM 29 (H2IHA 356,480 275,540 80,940
J| 147,040
== 58,816
Al 150,624
307 2Iz2t0| A 356,480 275,540 80,940
J| 147,040
= 58,816
Al 150,624
11T AISIEXAIEEX 356,480 275,540 80,940
OAHLUINEXNAHLE 2 356,480
J| 147,040
= 58,816
Al 150,624
FAELADIIEZ XS 164,460 159,600 4,860
= 82,230
& 41,115
Al 41,115
307 QI2t0| ™ 164,460 159,600 4,860
= 82,230
& 41,115
Al 41,115
11T A EXAIEEX 164,460 159, 600 4,860
OFALI =X 164,460
= 82,230
= 41,115
Al 41,115
AXNEHEH Ol0l=38 Al A K& 8,245 9,473 A 1,228
J| 5,772
o 989
Al 1,484
307 212t0| & 8,245 9,473 A 1,228
J| 5,772
o= 989
Al 1,484
11 A EXAIEEX 8,245 9,473 N1,228
OHUINEXNKAMEH Ol0Is==SAHE A XS 8,245
J| 5,772
= 989
Al 1,484
fS82&8n 29 65,000 72,000 A7,000
et AH| 15,000 17,000 A 2,000
1 AFR 22| ] 15,000 17,000 A 2,000
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QutE N = 50,000 55,000 A5,000
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Al 17,500
307 glz2+ol & 25,000 25,000 0
= 7,500
Al 17,500
11T MISRASEEX 25,000 25,000 0
Oz&s HE 2d B2 X2 25,000
< 7,500
Al 17,500
SsF0tLsH 29 221,552 130,260 91,292
J| 107,656
< 44,934
Al 68,962
307 21201 A 221,552 130,260 91,292
J| 107,656
=3 44,934
Al 68,962
11 ALS S XAEE = 221,552 130,260 91,292
O=ss0LisH 29 221,552
J| 107,656
= 44,934
Al 68,962
SsS0tUsH 228E XA 100,000 100,000 0
< 30,000
Al 70,000
402 RI2EX=20l A 100,000 100,000 0
< 30,000
Al 70,000
02 U2 THEALEZ(0IETHR) 100,000 100,000 0
O03s=®0tUsH 21228 XI& 100,000
< 30,000
Al 70,000
OtOIS=Z0l A2 HAH K& 11,400 12,540 21,140
< 3,420
Al 7,980
307 21201 A 11,400 12,540 21,140
< 3,420
Al 7,980
11T MISXAISEEX 11,400 12,540 A 1,140
Ootol==20l A2HF&H XA 11,400
= 3,420
Al 7,980
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SN HEED
B 014 - Of

Sl JbE IH XS CEEEED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ALINEXNIJE R SAXN SA=E 20,520 0 20,520
== 6,156
Al 14,364
307 2Iz2t0| A 20,520 0 20,520
o= 6,156
Al 14,364
10 M SXNAEEHESIGHEX 20,520 0 20,520
OAHLUINEXNIALR SAA 22X 20,520
& 6,156
Al 14,364
=8 2sH & 75,000 0 75,000
J| 37,500
& 15,000
Al 22,500
307 giztol & 75,000 0 75,000
J| 37,500
& 15,000
Al 22,500
11T A EXAIEEX 75,000 0 75,000
O==s ssHd XA 75,000
J| 37,500
= 15,000
Al 22,500
HF=8s SMHEE T2 1,939,607 1,255,000 684,607
EM =52 £ IH ¥=H A 1,898,000 1,200,000 698,000
301 et M= 1,898,000 1,200,000 698,000
01 M| EXEE 2562 1,898,000 1,200,000 698,000
OXNMOF SN0 SM=5I2(LAS)
00,000& *1,800H 540,000
OSTOL Ol& =MOF SM=3I2(LAS)
500,000 x1,220H 610,000
OAMTHOF Ol& =MOF SM=5I2(LAS)
1,000,000 x340H 340,000
OAMFHOF Ol& =MOF IH ¥sH X (=22
) 100,000 x340H ~ 12& 408,000
2E MO SH(MYD]) 258 A 41,607 45,000 A 3,393
301 et A =2 41,607 45,000 AN 3,393
01 Al B & A 46 2 41,607 45,000 A 3,393
OBNMIIE SEH s& N 41,607
Ct23tAIS X & 2,264,105 1,892,019 372,086
J| 733,214
o= 376,254
Al 1,154,637
Ct23HAIS X & 2,264,105 1,892,019 372,086
J| 733,214




fA: O

SItE1)
A

b
H: 2SAIS A&
R U2SAIS X & (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 376,254
Al 1,154,637
CI23IIIEXNHEH 29X 315,400 310,800 4,600
J| 117,700
&< 35,310
Al 162,390
307 2iz2to| & 315,400 310,800 4,600
J| 117,700
= 35,310
Al 162,390
11T AISIEXAIEEX 315,400 310,800 4,600
OUERSIINESXNANH 2SR 315,400
J| 117,700
o= 35,310
Al 162,390
CEESIIIEXNSHEH dR2 53,000 58,800 A5,800
201 et | 53,000 58,800 A5,800
01 AP 2t 2] H| 53,000 58,800 A5,800
OUESSIIEXNJALAH X = 53,000
Ch2sIIECH BXx2 838X 12,000 13,000 A 1,000
307 Q12t0| ™ 12,000 13,000 A 1,000
02 QIZHEAAIE E X 12,000 13,000 A 1,000
OZ2E0F0HH XSEtHE =0t 3,600
OZEOIZNE M2NAZ S 4,400
OLI2s |K4E OlcfE=2st 4,000
MEEE & ANHEHME S 2N AHHA X 318,512 316,332 2,180
J| 149,056
o= 44,716
Al 124,740
307 2Iz2to| & 318,512 316,332 2,180
Dl 149,056
= 44,716
Al 124,740
11T A EXAIEEX 318,512 316,332 2,180
OXNEHY=E L IHEHME S B2 NS AEA X
2 318,512
J| 149,056
& 44,716
Al 124,740
230 HHE=2 90 U=Sor=n &M 13,000 13,000 0
201 gBt2Ay| 10,000 10,000 0
03 A2 G H| 10,000 10,000 0
O=3te HHEs 90 UESSIE M 5,000
Ost= 117 =3 HE 5,000
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HH: O23HAES
&2l CI23AS

A OEIEDY
“x e
3 X

(o
SA BB (SH) - NRAY - B %Ei 2t
301 et A= 3,000 3,000 0
09 SHAIAHI X &2 3,000 3,000 0
OS5 &HE=2 80 U250 &M 3,000
CI230IE Atdl &2l X 63,650 61,298 2,352
J| 31,825
& 9,547
Al 22,278
307 giztol & 63,650 61,298 2,352
J| 31,825
& 9,547
Al 22,278
11T A EXAIEEX 63,650 61,298 2,352
OLIE3IIE At &2l XN& 63,650
Jl 31,825
= 9,547
Al 22,278
CI2sIIIE XN HEH S A XA 29,003 27,320 1,683
= 11,601
Al 17,402
307 212t0| ™ 29,003 27,320 1,683
= 11,601
Al 17,402
10 AISIEXAIEEHE2IHIEX 29,003 27,320 1,683
OLUSSIEXNIAHMEH A XA 29,003
& 11,601
Al 17,402
CI23IIIIESXNHEH SAHA = 113,080 110,770 2,310
o=t 16,644
Al 96,436
307 2iz2to| & 113,080 110,770 2,310
& 16,644
Al 96,436
10 MM SAANEEHESIGHEX 113,080 110,770 2,310
OUESSINESXNIANEH SAHA =< 113,080
o= 16,644
Al 96,436
Ol J=std =4 60, 140 56,650 3,490
J| 30,070
= 9,020
Al 21,050
307 QI2t0| ™ 60, 140 56,650 3,490
J| 30,070
& 9,020
Al 21,050
ASIEXAISE E X 60,140 56,650 3,490
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CPEpIE
CI23tAtal X
Ch2stAta X ?HA)
- - _ RE!
SAH-EB .S (3H) - HEAY - BE2 e 2
OO0z IIEEE =4 60, 140
J| 30,070
= 9,020
Al 21,050
CIE3ts Ao oge X 106,560 98,460 8,100
Dl 53,280
& 15,984
Al 37,296
307 QI2t0| M 106,560 98,460 8,100
Dl 53,280
& 15,984
Al 37,296
11 A SXNAEE X 106,560 98,460 8,100
OUE3IIE ANEAEE 106,560
Dl 53,280
T 15,984
Al 37,296
CIE23Is DsUS0| A 104,000 104,000 0
= 20,800
Al 83,200
307 212t01 & 104,000 104,000 0
< 20,800
Al 83,200
11 AMISXAEE X 104,000 104,000 0
OLESIE DeLI=0l AtY 104,000
< 20,800
Al 83,200
=2 ISsty 29 146,090 146,090 0
& 51,132
Al 94,958
307 212t01 & 146,090 146,090 0
& 51,132
Al 94,958
11 AMISAAEEXR 146,090 146,090 0
o2z4 0i2sY 29 146,090
= 51,132
Al 94,958
CE2sEad dz XH 10,000 10,000 0
= 4,000
Al 6,000
307 QI2t0| ™ 10,000 10,000 0
& 4,000
Al 6,000
11 AMISAAMEEXR 10,000 10,000 0
ot=zszagad Xz XA 10,000
& 4,000
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AN GEIEY
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 6,000
ZS0/8X AL XA 25,000 20,009 4,991
J| 12,500
< 3,750
Al 8,750
307 glz2tol & 25,000 20,009 4,991
J| 12,500
< 3,750
Al 8,750
11T M SXASE EX 25,000 20,009 4,991
OZS0l2X H&2AsXH 25,000
J| 12,500
< 3,750
Al 8,750
ZE0IX S - HANMHA XA 90,150 82,527 7,623
J| 45,075
< 13,523
Al 31,552
307 21201 A 90,150 82,527 7,623
J| 45,075
< 13,523
Al 31,552
11T MISXASEX 90,150 82,527 7,623
OZE0I2UX S - HANHIA XA 90,150
J| 45,075
< 13,523
Al 31,552
ZE0IQA HPEHUWS 21,000 21,000 0
< 8,400
Al 12,600
307 21201 A 21,000 21,000 0
< 8,400
Al 12,600
11 ALS S XAEE = 21,000 21,000 0
OZS0l2UX HHYEHAUR 21,000
= 8,400
Al 12,600
ZS0I8X sHAFHSE X 56,000 56,000 0
< 22,400
Al 33,600
307 i+l & 56,000 56,000 0
= 22,400
Al 33,600
11T MIZEXASEEX 56,000 56,000 0
OZ =02 sHEHSE X 56,000
< 22,400
Al 33,600
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QA OEED
H: 2SAIS A&
R U2SAIS X & (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
ZE0/0X s &dlX& 20,000 20,000 0
== 8,000
Al 12,000
301 et A= 20,000 20,000 0
o= 8,000
Al 12,000
01 AISIE & A %52 20,000 20,000 0
OZ2E&0|2I At CHEF sHH| K& 20,000
& 8,000
Al 12,000
Ct23st 0|0 EHAMH 24 125,833 125,833 0
& 25,750
Al 100,083
307 giztol & 125,833 125,833 0
& 25,750
Al 100,083
11T A EXAIEEX 125,833 125,833 0
OCE3 0|0 EAHEH 85,833
& 25,750
Al 60,083
o2=02=2X 24 S9N 40,000
ZA0H 0IFHAE ESAIE 24X 226,947 211,560 15,387
J| 146,158
= 22,686
Al 58,103
307 2iz2to| A 226,947 211,560 15,387
J| 146,158
= 22,686
Al 58,103
11T AISIEXAIEEX 226,947 211,560 15,387
OZd0ol OlFHE ESAAE 226,947
J| 146,158
o= 22,686
Al 58,103
Z2ol 0lF=0HE BESAIE SALA 12,640 12,580 60
= 3,792
Al 8,848
307 QI2t0| ™ 12,640 12,580 60
& 3,792
Al 8,848
10 A EXNAEEHESIGH EX 12,640 12,580 60
OZ&I0dH 0IF=0H ESAIAE 12,640
& 3,792
Al 8,848
ZHUH 0IF0 BSAL FE 5,000 3,000 2,000
J| 3,500
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SAD SIS
dM: O23tAte XA
chel: OEtAE K& (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 500
Al 1,000
402 RI2EX=20| A 5,000 3,000 2,000
| 3,500
< 500
Al 1,000
02 QI EAIL EZ (01T S) 5,000 3,000 2,000
OZIloH OIFHE ESAIE B2 5,000
J| 3,500
< 500
Al 1,000
Zd0ol 0l=0E &8s 2ERA 288,100 0 288,100
| 144,050
< 43,215
Al 100,835
307 21201 A 288,100 0 288,100
| 144,050
< 43,215
Al 100,835
11T MISXASEEX 288,100 0 288,100
OZ4Ilol OIFHE &Egh 2N 288,100
| 144,050
< 43,215
Al 100,835
ZS0ol 0lF=0E &8a SAA =& 49,000 0 49,000
< 5,484
Al 43,516
307 glz2tol & 49,000 0 49,000
< 5,484
Al 43,516
10 M ZXNANEHI2IHES 49,000 0 49,000
O=Z=mol olF04 &5 SAMI = 49,000
< 5,484
Al 43,516
HHR2LYZH(HLIIED) 1,497,334 1,194,861 302,473
= 780,560
< 229,074
Al 487,700
Jl2ZH(Eo=m) 87,912 97,248 N 9,336
JI2dH (A=) 87,912 97,248 A 9,336
201 LBH2E| 46,272 50,688 N4 ,416
01 At 22l 45,272 49,688 N4 ,416
O el 20,800
ozg=+¢ 7,000
O= &l 17,472
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SAD SIS
= HE2GFU (WAL=
¢ D2 (6HEIt=0) (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 1,000 1,000 0
O3ExtE B2l 1,000
202 (44l 37,440 41,760 A 4,320
01 S LHOYI 37,440 41,760 A 4,320
OJlegd =80l 37,440
203 B R =&l 4,200 4,800 A 600
04 FEXNSELR=LH| 4,200 4,800 A 600
ORN2IYRZ=AHI 350,000& »12& 4,200
A2 IEHI(HEII=D) 1,409,422 1,097,613 311,809
= 780,560
< 229,074
Al 399,788
Ots=XI WAt ItA 992,090 856,233 135,857
= 478,195
< 191,278
Al 322,617
101 @124 dl 992,090 856,233 135,857
= 478,195
< 191,278
Al 322,617
03 RIAHAZ 2B+ 992,090 856,233 135,857
OOts=X WA IHA 992,090
= 478,195
< 191,278
Al 322,617
FAHES OrSSEMEIA XA (2128]) 252,120 218,050 34,070
= 201,696
= 25,212
Al 25,212
101 @124l 252,120 218,050 34,070
= 201,696
< 25,212
Al 25,212
03 RIAHA2ZZHE > 252,120 218,050 34,070
ORJIHAZZX B 252,120
= 201,696
< 25,212
Al 25,212
OlsSEs dgedA X2 (e1Adl) 165,212 23,330 141,882
= 100,669
< 12,584
Al 51,959
101 14 Hl 153,212 23,330 129,882
= 100,669
< 12,584
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M 08I ED
= HE2GFU (WAL=
el lHE2HHI(HEIIE1L) (Sl & &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 39,959
02 JIEtE B == 153,212 0 153,212
O0l=E3s dER¥ K& 153,212
= 100,669
< 12,584
Al 39,959
202 4l 5,760 0 5,760
01 = LH o4 1l 5,760 0 5,760
O0tsEs dEA N 5,760
204 AR A H| 6,240 0 6,240
02 g2 2l 6,240 0 6,240
onts=2s MEA XA 6,240
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